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g HUHNCJIDJIMUH 3ACAT JAPI'BIH PPII/IDX
@' BUEUIH TAMUWP CITOPTBIH XOPOOHbBI
= JAPT'BIH TYLHAAJI

200 4. ouriOFnyraap Hyraap Ky S ‘VnaanGaatap Xot
capundb enep

DOKCHH TBMIB5H AByynax Tyxa®

TVILAX Hb:

Hor. TpanuGaarap XoTHH 2001 OHH GOKCHE HACAHI
XYpST4Yul, 6CBOPUIH aBapra manrapyynax ToMimnsRuiir 2001 oHH
7-5 GapHH 27-29-HH eIpYYNSN ANIAp CIOpT XOPOPHH CHOPTHH
3aanaHn sABY ncyrait,

Tofp. TormssHEUE TecBUHT HATIYISSp, mYYTYnafiH Gypon-
JOXYYHIET XO8pmyrasp XaBcpanToap TYC Tyc GaTancyrait.

TypaB. TomussHui meTHanNK 30pEynaH 545500 Terperuiir
CTIOPTHH &apra X3!mosHui 3aprnaac rapraxHr Ha-60 T.IlpmoH-
CO/THOM~II 36BHBepCYIdit.

JllopeB. TOMIBHHEAT YR CypTan 20XM1OH $afiryynanTHe
OHTEp X3!M99HI ABYYNSXHT MOPIo:nATSH C.IIYDOBROPRAL YYPST
donrocyrait,
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Tunlepsnniiy Bacar JaprHy IBpToIsX
RUENTH TaMID CIOPTHH XOPOOHH IapIHH
OBl OHH £ TOOT TYmAanHH I-p

XaBcpant.

Cem

Hor., Tommosauit Tocos

a/ TacaHm Xyparumn

— TaMupymHH marsan

I-p Gafip ITI x 5000 Ter = B5000 TeT

2-p Ga#ip IT x 5000 mer = 55000 TerT

3-p Oafip 2I x 4000 Ter = 84000 Ter
IYH = 205000 Ter

— Myyranuity marHan 3 x I4 x 2000 Ter

- 3aan, yzenuitn xenc 70000 Ter

6/ 6cmep

~ Ta'upunuy marHarn
I-p Gaffp II x 3500 Ter = 28500 Ter
2-p Cafip IT x B00O Ter = 33000 TeT
S-~p Gaffp 22 x 2500 Ter = 55000 Ter

IOYH = T26500 Ter

- 3-an,yzenufin xenc 60000 Ter

HuitT nyH = 545500 Ter

= 84000 Ter
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Huftononnits Racar JlapTHH mopramsx
breniin TaMup CIOPTHH XOPOOHH

"rapruH 2001 OHH $8 TOOT TYmMAaanHH
2.»p XaBcpanT.

Hor. Toumeouuft myyrunu#in Gyponmoxyym

"OWyRBOTN,
. baspcaixan
. OnzBott
I'xarsas
‘eHxca’xaHn
BSaTTep
BaTiapsH
YaHnH®aB
. ANTAHTBDPON
T0. JamGyposH
IT. BarGasap
T2. TandGaarap
I2. 2axX0ar

T4. Barxyy
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